Nuts, Bolts, Locks & Studs

iy

AR .

LA

W
\

:

V 4
ORI

777

i

l

ACORN RADIUS MAG

. — ; |
- sl [ 4 I
4 320080

/ - a3

TOUVVINEEIS

e Thread Size Available: M12x1.50, M12x1.25, M12x1.75

Surface Finishing: chrome, zinc, blackening, color coating, de
‘only list partial popular specifications here. Feel free to contact t

Y=
il
't

ny other requirement.

[
1

29 B



Lug Nuts

3/4" HEX

.

3/4" HEX

13/16" HEX

T K = -
16
¥ /60°

y HENG TIAN

3/4" HEX

—

Ny -

718" HEX

/6

13/16" HEX

111044ZN

M 30

11101

11101ZN

11100

718" HEX

11100ZN

11920ZN

3/4" HEX

11300ZN

13/16" HEX

11378

3/4" HEX

“1 — = ‘r__,l
k - i -
! & iR b 1
J 1.4
¥
| 2 ]
i
i
\

11224DR

11122ZN

3/4" HEX
=

111214N

3/4" HEX

11126ZN

3/4" HEX

11102ZN

13/16" HEX

= EE o

11124ZN

2/3" HEX

= ~!.f ! _*".:..-E‘

11314ZN

3/4" HEX

11324ZN

3/4" HEX
~— =

3/4" HEX

LT e

11326ZN

7/8" HEX

T
20 = -

11301CZN

11330£ZN

11320RZN

11220ZN

11330BK

11320

3/4" HEX

11345ZN

3/4" HEX

11313ZN

3/4" HEX

3/4" HEX

3/4" HEX

11340RD

3/4" HEX

11340BU

3/4" HEX

13/16" HEX

36 ' . 37 A
L /0
+ L)
|<15.5-+] |« 18 —]
12380 12536 13500

31 B



Lug Nuts

3/4" HEX

3/4" HEX

13/16" HEX

y HENG TIAN

12540 12560
7/8" HEX T @
7/8" HEX =
475
¥ 50°

213" HEX 2/3" HEX

| - ? D
» '-..‘__- -
I HI“? - i e |
| i

13/16" HEX

3/4" HEX

13/16" HEX

13/16" HEX
2-PC

13/16" HEX
L3

M 32

12420

12430

12400

12490

e 13/16" HEX 13/16" HEX 13/16" HEX

27
LN e
12330 12230
2/3" HEX 3/4" HEX

13/16" HE

12340 12301 12360
13/16" HEX 13/16" HEX 13/16" HEX 13/16" HEX
36 |

12370 12300 12300RD

13/16" HEX

tim

2/3" HEX

49 .4

41.5

12308 12342 12320 12349 12250

33 B



& HENG TIAN

Lug Nuts

.. 13/16" HEX
13/16" HEX PG

3/4" HEX " "
5P 13/16" HEX 13/16" HEX 2-PC

T

3/4" HEX

13/16" HEX 3/4" HEX T

35

13820BK 13601 13890 13821GYT
13/16" HEX 13/16" HEX 13/16" HEX 13/16" HEX

2-PC 2-PC 2-PC

3/4" HEX 2/3" HEX 3/4" HEX 13/16" HEX

o e
| L |

13821GDT 13821BRT 13821CWT 13821BUT

3/4" HEX 13/16" HEX 13/16" HEX

T

3/4" HEX
3/4" HEX 3/4" HEX 3/4" HEX 3/4" HEX

45

/60  /o0°

13700BK 13700BU 13700YL 13700RD

13940BK
3/4" HEX
2-PC
3/4" HEX

3/4" HEX 3/4" HEX 3/4" HEX 3/4" HEX 3/4" HEX 3/4" HEX 3/4" HEX

— S 2-PC T —— T e

. 48.5 | 48.5

13700ZN 13700 13730ZN 13820 _{_ . _{y_ @o 60°

13740BK

M 34 35 B



Lug Nuts

3/4" HEX

Variable PCD
3/4" HEX 3/4" HEX 3/4" HEX

T @)
dcy

17501ZN 17501BK 17321

32

13/16" HEX

2/3" HEX

2/3" HEX

13450 13432
3/4" HEX 3/4" HEX
3/4" HEX - T
o8 ? | 32 32
N Sl e | Vel Ball
j- - ' Seat Y. Seat —+- QL Seat Seat
13620 13729 13732R 13732RBK 13460 13760

718" HEX 7/8" HEX 3/4" HEX
3/4" HEX 3/4" HEX T F ~ ‘f‘ -

13971 13971BK 13937 13937BK

M 36

7/8" HEX 718" HEX 13/16" HEX

T

45 45

13945 13945BK 18145

13/16" HEX

5PC 3/4" HEX

3/4" HEX

e
4
~ ]
e x'-
= e —
- S
. )
=R
; . 4
1
. l
|
&

3 8 33 34
i1 Seat i1 /60° v G /o
13762 13763 13720W

7/8" HEX
2-PC
13/16" HEX 3/4" HEX 3/4" HEX |
35 e
¢ , | " Ball
- - Seat
13761 13721
13/16" HEX

13/16" HEX 2-PC

17561ZN

37 B



Lug Nuts

M 38

13/16" HEX 13/16" HEX 3/4" HEX 13/16" HEX

§. )
. T
G
—
|—o—

4 ‘;li'*
/i
_ a

22 HEX 22 HEX

?T

14.5

L]

—— = T
... i»l-' ) 125

— 22 —»f — 22 —»]

17240 17240BK

13/16" HEX 13/16" HEX

13/16" HEX 2/3" HEX

13/16" HEX

e

40.5

15220

.. : 3/4" HEX
13/16" HEX Rl S 22 HEX T ==

48.5

15240

3/4" HEX

-
e
_
..

91

L] L]

[—14—>

15430

13/16" HEX

N =
i

j

|

a7 e
|
| . |
I
| |
[
- ol
- -
- B .u

60

15250 15260 16500

15280

39 B



Lug Nuts & SST Capped Nuts @ HENG TIAN

3/4" HEX
2/3" HEX 3/4" HEX SST Capped
3/4" HEX 3/4" HEX SST Capped SST Capped
3/4" HEX R A B — — = SST Capped
256 Sl = 27 |
_L ' /60°

11621ZN 11620ZN 17720
e
i appe
Sg/#'é;HEXd 3/4" HEX Sg’{i‘ C';'E;;d =
dappe A,
13/16" HEX PP ST _p_ed s

t t

35

13/16" HEX

22 _ _
N 17520 13220
22 HEX
22 HEX SST Capped "
SST Capped T ~
ATV & Trailer Lug Nuts -
51
2/3" HEX 2/3" HEX
¥ ¥ /60°
13240
17302 ef TEA
22 HEX
SST Capped
22 HEX 22 HEX
SST Capped SST Capped
13472 13870 13470 13470BK i _— IBOQ
|«16.5-»
17540 17580




Alloy Nuts & Lug Bolts

» HENG TIAN

3/4" HEX

39.5

A3720 A3710 A3710BU A3710BK A3710YL A3710RD
3/4" HEX 3/4" HEX 3/4" HEX

t

50 50

1.25 50MM
12X1.25 50MM

A Y W
1 .-""J tl‘-:-
A -

/60y /60

A3750BK

A3750BU

Cross-section view O
:ii}\l', ,Lr |
: e "l"t':‘;“{

A3760YL A3760BK A3760GY A3760RD

Seven hex

T

Seven hex Seven hex

—— —— -

50

A3740RD

A3730BU A3730BK

3/4" HEX 3/4" HEX

3/4" HEX 3/4" HEX

3/4" HEX

— e -

81930 81930RD 81930GY 81930BK 81930BU

M 42

2/3" HEX

Part No.(Cr) PartNo.(Zn) Part No.(Dc)
93724 937247n 93724Dc 24 | 51 Cap Fatier
93726 93726Zn 93726Dc 26 53
93728 937287n 93728Dc 28 55
93730 93730Zn 93730Dc 30 57 CP201
93732 93732Zn 93732Dc 32 59
93740 93740Zn 93740Dc 40 67
93745 937457n 93745Dc 45 72
93748 937487n 93748Dc 48 75
93750 93750Zn 93750D¢ 50 77
93755 93755Zn 93755D¢ 55 82
93760 93760Zn 93760Dc 60 87
2/3_"E EX T '2f3 HEX
93726SHT 93722/N 93924/N
2/3" HEX
2/3" HEX Sl HEX .

3/4" HEX

a — ——

—-::|='—-_.—-—'-"'
‘ ——

55

28

L]

!
Fap———

1
.

e

WAl

:

——

: e

(il
AN

—

93926

93728BK

9392

8

45802

43 B



Lug Bolts

2/3" HEX

Ball
Seat

T

28

L]

62.5
52

Part No.(Cr)

92723

92723Zn

Part No.(Zn)

23

47

92726

92726Zn

26

50

92728

92728Zn

28

92

92730

92730Zn

30

54

92733

92733Zn

57

92739

927397Zn

39.5

92745

927452n

45

70

92750

92750Zn

50

74

92760

92760Zn

60

84

92765

927652n

65

90

92770

92770Zn

WA

O

_—-—'__

3/4" HEX

1 ¢

-

70

95

3/4" HEX

2/3" HEX

2/3" HEX

3/4" HEX

i
M r
g Gl '.- ¥ I
}
[ i S S | 1|
P x (5 4 = ! =
TR i S
=
\ Ty . N o M
{ 1 _| i\
L . B == 3

KRN

—

(UCEC R

AL

94719C

13/16" HEX

+ "
-y

Variable PCD
2/3" HEX

- o ¥

927268 92728BK

92932

92945

Pins

M12x1.25

M12x1.50 P

150

f’f
% '..
e ’
- oy DA

"Ny
|l o’
VR

N

B B
R ]
3 k‘ :.':::E

M14x1.50

150

M14x1.25

. 4
AN ‘F
AR i .
S e
PN gl

il .-‘- :#.‘_'

L w .y

A3

O e

e ._b__

PINOO1 PINOO2

PINOO3

PINOO4

2/3" HEX

2/3" HEX

2/3" HEX

69

- s -

T

97729(hex 17)
99728(hex 19)

2/3" HEX

= 44

91732ZN

45 B



Tuner Bolts & Nuts y HENG TIAN

Aduptor

24024 24 51 20 6-Point

T 24027 27 54 20 6-Point Part No. Color Aduptor
24032 32 59 20 6-Point 21026 26 20 6-Point

25024 24 51 20 10-Point 21030 30 20 6-Point

25027 27 54 20 10-Point 21032 32 20 6-Point

L 25032 32 59 20 10-Point 21032BK 32 20 black 6-Point
TES 2 26024 24 51 20 lock type 21032RD 32 20 red 6-Point
&= 3 26027 27 54 20 | locktype 21032BU 32 20 blue 6-Point

S & g 26032 32 59 20 lock type 21932 32 19 6-Point
L == 25924 24 51 19 | 10-Point 21332 32 23 6-Point
== 25927 27 54 19 | 10-Point 22032 32 20 10:Font
25932 32 59 19 10-Point 22332 32 23 10-Point

Variable PCD
[+ 20 —

3/4"&13/16" Hex

21036 21043 21033 K463

:
|

3/4"&13/16" Hex

_>|

" —‘ﬁ

]

\

87

\

\

\

[

\\

\

\

50

—
S
——
=2
=2
— )
—
=,
=
—
--l"".“

|

N\-\&-\\\\_\\\\-\\_\\5\-.\.\\\\\‘“\\\_"-\-_W_- _\\._\x‘x\ \5\_\.&:‘_\\ \ \'\_5\;\\}“‘\- LLLLL \\\\\Ni i .

A0 000 000

AT

WA
|

25060

N
O
o
&)
o

M 46 47 B



Spline and Seven Hex Items

49034BK 49034BRT 49034BUT 49034CLT 49034CWT 49334BK 49334GDT 49334GYT 49334BRT 49334BUT 49334CLT

L

6 Spline

0-8"

49034GDT 49034GYT 49034ET haba 49325 49334ET 49051 49058 73028

- 0-9"
7 Spline

51 | | 51

[T 7 Vo

3/4" HEX 3/4" HEX 49351 49351BK

49050CRT 49050CLT 49050BUT 49050GDT 49050CWT 49050BRT 49050RD 49050BU

KS69L

T

Seven-hex Nuts

1“

1/2" Drive

112 112

| ¢ rs
T /o o 49633RD 49633YL 49633BU
¥ feo ¥ /60 -

19112 19112BK K567

M 48 40 B



Wheel Locks

41540Zn 41000 41500Zn

HLITT T TLLGY

s
e

b - q
1\‘ el <) " "
L =

o e

41270DC

T
32
12 /60

43000RD 43000BU

T T
39 35
L] /- | /60°

43130RD 43020 43039BL 43035BK

42234D

H 50 51 B



Wheel Locks

Sleeve Style Sleeve Style

Sleeve Style
[— 25 —f

46350

42244

Sleeve Style
|«— 25 —»

Sleeve Style
25 5 Sleeve Style
34
31
| Ball
—~ Seat

" Ball
Seat i @c
46450
42227 42335 42510 46430ZN
Sleeve Style
[e— 25 —

Sleeve Style

Sleeve Style

47

Sleeve Style Sleeve Style
l«— 25 —»] [e— 25 —»]

T

46410 46660

74428

13250DC

H 52 53 B



) HENG TIAN

Y2
<
QO
O
-~
—
D
O
m

[ ] —
=2
T AN

| —— [ ::_:g _t I

)

T

|v_

mﬁj Ly .;@ti@i@tﬁﬁmm\

VI T I
3_3:53.;

(3927 73528BC 13528

73518B

73925

73628 73225Cap 73425Cap 73425BK Cap

73620

T

|
i _:_wq .____:;_

i

NN

"

| % I

DA

Variable PCD

_
w %_ .:;J,.;_,_____, A i_,;
. My

BT

BRI

Sleeve Style

|e— 255 —»]

| -,,5“ \ y,__,,,_,., ANTATAR
g T

yle
23.5 —]

Sleeve St

I~

12339

12525

74526DC

73530

12929

13728

71428 73230 12230 13229

79225

13/16" HEX

13/16" HEX

SST
Cover

Sleeve Style

|«— 257 —|

= ._ _ .& z,z ﬂ_ — ﬁ%

o

= 9 —
AR
NAAAAIasus el

rFy
e 3 i S P YPYPFYIFYYY!

LR

s Ly

g

T
i

b 3 Ball Seat
R14

I v: _; ___ l _":__; v

A

_z:; J

___._ _____.__::.___

-xg‘ Al

.__lw_%%,:% i

f{ iy h_h_.” m_;__.____m il I % i {

12240

12225

73922

14522

72546

72545R14

72501

712502

72923

74625

74442

55 B

H 54



Keys & Cap Locks

Diameter: 0.8"

~N“*~.
K569
6 Spline
89 K569-7
7 Spline
K569-10ZN
4 10 Spline

13/16" Hex

K278 K279 K269

3/4"&13/16" Hex

K368BK

3/4"&13/16" Hex
3/4"&13/16" Hex

KS69S

2/3"&3/4" Hex

Diameter: 0.9"

A K569L-6
6 Spline
K569L
89 7 Spline

K569L-10ZN
10 Spline

" " 3/4"&13/16" Hex
13/16" Hex 3/4"&13/16" Hex -
ﬁfr"_ﬁz:g: é% e . 4 :_,, . '__ RS 1

3/4"&13/16" Hex

2/3" Hex

K168

3/4"&13/16" Hex

K468BK

1/2"

1/2" Drive

120

K367

3/4"&13/16" Hex

K468-17

‘ 2/3" Hex

=S & 3/4"Hex

» HENG TIAN

Cap Locks

T

* ;':f'i:‘ i

Bt

il

ftilibabiilitls

il

I .H' .| | | i
L.ttij_\jx\a.qa\uy.waﬁ ﬂ AN 1] 1 i‘\_\ﬂ't}'i\q{m 13!\1_\_ yﬁqﬁz

= ILI._
[ ns——

i
SRR !

gl bl

Ll

W

W

AR

e [ Il I::

BYA RN ANV AN

ldldidndaind

il idndy

bt

it

Washers

45520

45538

45844

45561

TG6000

45745

Thread Gauge Checker

Measures the following
thread sizes;
7/16"-20
1/2"-20
12x1.25
12x1.50
12x1.75
14x1.50
14x2.00
14x1.25
9/16"-18

W3o02ST W3503

45924

57 B



JE .
i B
e
'

Knurl Dia.
Length

JISAVLLRIARAAANAAAN

W
|

[RRRIGREEI I ees

-
. SO—
"
:_ ———
Sre—

'l&;_:l'.t \! LLE

:
i

{

i
|

e
QUL

|

i

Part # KS33606

Part #

KS81604

KS36404 KS23404

KS10904

KS81206 KS40306 KS37506 KS40206

KS17404

Thread Size

1/2" 1/2"

Thread Size M12x1.25

M12x1.25 M12x1.25 M12x1.25 M12x1.25

Knurl Dia. 12.7

Knurl Dia.

14.9

15.6 15.7

14.4 13.0 14.3 13.0

15.9

Shoulder 18.0

Shoulder

12.5

g |r|l'|'f_m|l{|"i'frll'fl,f{i{f{f"‘-"',-rhmfr'l""'

AR

12.0

. ™ = - 1
-_-.‘
C——
1
|
1

= -
—— ~- -
-
= = "
——

76.2

-Jh[rl’g‘-firl'lifl'.-{l'lf““lf'i"ff'fh.‘." ﬁ_;é il
,.h I_I'.I.III. UL k ‘ ;‘

13.0 16.0 15.5 15.5

="

—=—
[

OO ———=

——
m=m—

=

ey

‘.—l——l‘g
e ——
-

-
=

'-. === 2 ¥/
a,n;.. |. “

|

(g™

|
\‘.\‘\x

iﬁ\‘g \

41.8

(e
i

i
\\

c

S — —-:::- i

—
—_— ____-l-""" e —
_'_"__'__.,.ﬂ'

e — ——
—— '_*-_- e
_"_ s — —

—_— o

——

Ml

Part # KS40106

KS40106DC KS91106 KS80506 KS56606YZ

Thread Size M12x1.25

Part #

KS81404

KS26004 KS56904

M12x1.25 M12x1.25 M12x1.25 M12x1.25

KS29004 KS96304

Knurl Dia. 14 .4

Thread Size

1/2" 1/2"

14.4 13 14.2 14.45

Shoulder

Knurl Dia.

15.9

15.75 15.85

15.75 15.72

Shoulder

10.0

- ’ Ir
L i —m= = |
! : e [ !
T_h# .l
ot e =
L S— = iy
— - - e .Il
S o & — 1 = E 4
\ ;L.
L — B
= L =y

i

AR

RO R R

|
LA

: 60.5 . 62

A

¥

e
e |

16.4

— =|'TF:'; ! l';}

h_
==

— )
I—-'___- = __- _.-_ R

S

:-;;-—:'==ﬂl
_—

S —— e A
— v
A 4 [

T
._---: =
15
1t|r-I“'_'
| Il
i | |
I H 1
A I |
! |

| R

R AR TR T | =

A=

|
ki
| {

)

L
=

—
——
—
—
-
—
- -
—
-

——
—
| ——
—
L —
—
T
|
—
—
—,
T—
S——
e
-
—
g
—
S
——
T
——
e
—

———
—_—
—

——
i
——
e

o —

T ———
—
—

—

—
 ——
Ex

e
T——
——

- —
_——
—
.
Gl
T—
———
——
——
—
—
—
L
T—

DA k]

|
1
1LR1A
-
S ——
——
e
S
=
—
S
=,
——
-
f—
e
-—
e —
=
- —
—
—
e
—
—
—
—
—_—
.
T —

——
———
—
— —
—
—
—

ll‘ I|| I| III L\ III," II|IIII II

Part # KS40406

Part #

KS91910

KS52910 KS30010

KS91506 KS92006 KS92206 KS92506

KS54110BK KS34710 KS30310

Thread Size M12x1.25

Thread Size 9/16"

9/16" 9/16"

M12x1.25 M12x1.25 M12x1.25 M12x1.25

9/16" 9/16" 9/16"

Knurl Dia. 14 4

Knurl Dia.

16.4

16.35 15.8

12.2 12.2 14.2 124.2

17.3 17.2

Shoulder 17.8

Shoulder

M 58

26.0

» HENG TIAN

—

50 B



OO R

» HENG TIAN

Part #

KS36207

KS26907

KS26207

KS25307

KS26607

Thread Size

M12x1.50

M12x1.50

M12x1.50

M12x1.50

M12x1.50

Knurl Dia.

12.3

12.2

14.4

14.1

14

Shoulder

9.0

10.0

10.5

11.5

= < 415

11.0

Part #

KS37807

KS80707

KS28507

KS25407

KS34007

Thread Size

M12x1.50

M12x1.50

M12x1.50

M12x1.50

M12x1.50

Knurl Dia.

14.4

14.3

14.9

12.8

12.8

Shoulder

17.0

12.0

-
_E__:EF_‘ | u}.
E“
i
l-—-—p—.;pr a J
p—,

e —
=
—
——
—
—
—
O —
—_—
| ——
—
—
—
A —
. - =
-
| —
—
—
S—
—
——
——

L
T8N\
| il
| | |

L
¥
|
i |
| Ij!: 1
1
|
B
.,
i
i
oy ¥
—— i
¥
e
=
—
— ;
g (]
—
e
i
il
i ’
=
— ‘
—
. il
——
_—
2
p—
i
P
—
—

42.7

14.5

v - = .-1
B e
B
Lo 2

. 42.8

= —
——
| —
T —
S —
—
e —
E—
e —
—
—
=
T ——
—
m—
——
—
i —
—
—
e ——
——

N —
—
e —
——
——
—
—
A e
——

-
— g
ﬁ I:I
S
"
|H}I
S _‘?
——
i
—
_d--__ ’
-
=
=7
.
T
—
T
—
_-:—;___,.""r iy
e
d-"-'- .
i
.--_-':‘_'.

9.0

16.0

Part #

KS91107

KS56807

KS36007

KS80107

KS51807

e - 4

O e

— -

—

prp— - X
'_"-_.._. —— -
——
e

— —
——— o

e —

LR

43.7

AARY n'*l.'\m.hh,\a,'u\1,14}.\%}“\:

Part #

KS46807

KS80607

KS41407

KS46207 KS50707

Thread Size

M12x1.50

M12x1.50

M12x1.50

M12x1.50 M12x1.50

Knurl Dia.

12.95

14.4

14.4

14.3 13.05

Shoulder

17.0

-

O ——

| —— gy m————

1\ Hii‘\“ 5‘-?.£$f_j;“_*_'f__ o | -'E-;.'.r

L

. 46.3

AL R

14 .4

o ——

|

-
II‘;.l.’r
iR

m—
——
——
—
—
—
—
—
—
o
L
s
R
—
—
—

th

z’ — _'E

u  —

— W

e

. 47.5

F N AL
T
——
—
—
ap—
—
o ——
=
il
i
o m—
-
—
—
—
I

-
I
-
-

—
—
——
—
—.l-."
-

—

i
—
-
—
S il

—
.
il

=

—

Part #

KS36907

KS41007

KS54707

KS48607 KS91507

Thread Size

M12x1.50

M12x1.50

M12x1.50

M12x1.50

M12x1.50

Knurl Dia.

14.7

13.15

14.45

12.95 12.2

Shoulder

19.0

. ) 535

||'||

¥
)
-
|
|
I}
(L8 R
I | L
| 1
A i
AR
LalB o &
i
-
.
™
—
.—-"-
—

0 o L AL R

LT I R R sl

A G AR G G i ==\l

=y

==

- 3 1k ]

= — L M
o\ ]

= - A v

‘-
-

¥

o

- .i-_q:_'|
e e
i gl Jf
T

it

- '—'—-'ll'.n—l-il
- - - i
T e

A A S

(i (IR

Thread Size

M12x1.50

M12x1.50

M12x1.50

M12x1.50

M12x1.50

Part #

KS80807

KS92107

KS92207

KS92307

KS92607

Knurl Dia.

13

13

12.45

14.3

13

Thread Size

M12x1.50

M12x1.50

M12x1.50

M12x1.50

M12x1.50

Shoulder

M 60

11.0

Knurl Dia.

14.2

13

14.2

14.6

Shoulder

29.0

61 W



Wheel Studs

73

il

. 384

N L AL A VRN |
et e b d b ol = =

=

|
Nl
']
| !
] 1
T
T—-
-
—_
——
—_—
S ——
- _a
——
—
—_—
—
—
e
S—
—
——
| —
——
A
—
—
— —.
—
—
T ——

i1

» HENG TIAN

Part # KS92707 KS92807 KS92907 KS18602 KS96202

Thread Size M12x1.50 M12x1.50 M12x1.50 7/16" 7/16"

Knurl Dia. 14 .2 14 .6 14 .2 12.05 14.6

Shoulder

(e L e

R ==

Part # KS91309 KS32809 KS33009 KS91809 KS32709

Thread Size M14x1.50 M14x1.50 M14x1.5 M14x1.50 M14x1.5

Knurl Dia. 14.6 15.9 15.3 14.6 15.9

Shoulder 16.5 9.5

W
|
1
[
|
|
1
|
)
b
| :I-I_
e
—
—
—
—
——
—
—
e —
——
S
e —
- ——
| —
e ———
—
T ——
—
g
e —
T —
——
N
——
—
—
——
T —
e,
T—
T —
. ——
P —
T—
A —

— 2,
—
—
—
—_
s—
_— 2
—
=
—
=

Part # KS52809 KS92309 KS43409 KS61509DC KS92809

Thread Size M14x1.50 M14x1.50 M14x1.50 M14x1.50 M14x1.50

Knurl Dia. 16.55 14.6 15.9 15.8 14.6

Shoulder

M 62

S ===
U A & "II:._ TRkl '._£|L!'|.i|.l-_j -1 | |I': { | ‘ I'i 11 .' B ';;' —— - y
L T P "'i."ll g '-.I LAl \ 1| I*|_ I 1'| b ¥ : . e e

L]

73.8

78.1 82.1

(A

L]

A LAY —

Part #

KS423809

KS50909BK

KS53009BK KS43109 KS56509BZ KS43609

Thread Size

M14x1.50

M14x1.50

M14x1.50 M14x1.50 M14x1.50 M14x1.50

Knurl Dia.

15.895

15.95

15.9 15.85 15.9 15.9

Shoulder

80

L]

. 50

M

100

s A

1 n..|.|_
—r
= o m—
——
—
| e—
——
e ——
——
——
-
m——
[—
T —
R ——
C————
—
—
—
e
—
——
—
T —
| ————
T ——
——
———
e —u
—
T——
- —
e ——il
—
B —
—
—
———
—
p —
| —
——
—
A ——
—
e —
S —
——
S ——
—
T —
R ——
—
—
S ———
e ——
—
———
—
—
———
e —
T—
e —
——
——
- - =
——
o
——
S —
T —
T——
e —
: —
—
B
e
——

|
\

¥ L]

Part #

DSN72406

DSN72207 DSC72407 DSN72607 DSC72425

Thread Size

M12x1.25

M12x1.50 M12x1.50 M12x1.50 M14x1.25

63 B



Drain Plugs & Packages

hex 19mm

.
}

1/27-20

1-961-005

e

-Ii‘\#ﬂ_l\!\\irﬂll\w'

.1

M12 X 1.25
6-961-049

-~

hex 19mm

T

22

i1

T

15.5

]

1/2"-20
with oriented lines

2-961-015

hex 14mm

Llrlfllli
A

il
L

M12 X 1.25
7-961-038

The following are all with integrated washers

hex 5/8"

1/2"-20
961-058

hex 16mm

T T
32.9 T 31.9 T
i [ '

1/2"-20
961-002

The following are all with rubber washers

hex 13mm

37.4

L]

M12 X 1.75
961-059

hex 15mm

M12 X 1.75
961-079Z

32.6

hex 14mm

T

30.4

1

1/2"-20

3-961-052

he_'x 17mm

N

l

|G ‘___ L

UL
&

AL

M14 X 1.50
8-961-033

hex 15mm

T
T

21.2

v

i1

M12 X 1.75
961-004

hex 15mm

f

24.7

]

M12 X 1.75
961-079

The following are all aluminium material with magnet

hex 14mm

hex 14mm

T

30

hex 15mm

4-961-034

hex 17mm

M14 X 1.50
9-961-075

hex 13mm

T

27

¥

s

]

1

M14 X 1.5
961-006

hex 13mm

T

33.9

i1

T

21

]

M14 X 1.50
961-115

hex 14mm

t

M12 X Tl
with rubber washer&magnet

9-961-091

hex 16mm

LGLLLLILL |
MMM =

M14 X 1.50
10-961-053

hex 17mm

28.6

¥

M14 X 1.5
961-098

hex 16mm

T

33.6

T

21

1

M14 X 1.50
961-161

hex 14mm

Head Card

Double Blister

& HENG TIAN

Plastic Box

[HENG TIAN | 8

ML‘K

Your Wheels

EMilexi2s  mMi2x125 ENHAXISO W1/2'-20
[ﬁmmxus mMi2x1.50 WM14X20 Mm5/16"-
mMI2XI.75 W716"20 W9/16'-

| o WHEEL LOCK S_ | /4 ,.

ﬁmum 50

I
IVI‘12 X 1.25 M12 X 1.50 M12X1.50 1/2"-20
961-A01 961-A02 961-A03 961-A04

B 64 65 B



